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LEARNING TO MULTIPLY

Part T

Drill Exercises
Multiplying By:
Two through Nine (inclusive)

Part IT

Drill Exercises
Multiplying By:
Ten through Twelve (inclusive)
and
Miscellaneous Drills
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To the Instructors:

The purjose of this workbook, 1n
multiplication, like thut of addition and
subtraction, is to fulfill a request by
teachers of arithmetic for material 1O
aid in the teaching of adult students
qho are doing work of elementary grade

evel.

Instructors will find 1t necessary
t0 supplement the material offered 1in this
workbook with other material in order 1o
adequately meet the needs of thelr students.
Many more exercises, reviews and drills will
be necessary.

This material, as presented, has
been formulated and organized by Minnie
M. Graham, Specialist in Adult Education,
Baltimore, Maryland. Permission for
reproduction has been extended through the
courtesy of the author.

Frank R. Repole, Ed.D.
Director of Adult Education
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Learning vo Multiply

John went to the store on Monday,
Tuesday, Wednesday and Thursday. Each
day he spent five cents. He added the
money that he had spent in this way.

5¢ on Monday

b¢ on Tuesday

hZ on Wednesday
+_h¢ on Thursday

He had spent 20¢. He saw that he had
spent 4 times 5¢, which was 20¢.

John found that adding was a long way
to get his answer. He also found that
saying, "4 times hH¢g is 20g", was a short
way to get his answer.

The short way 1is calied multiplication.
Like addition and subtraction there is a sign
for multiplication. The sign is (x) and is
called a "times" sign. When saying or think-
ing 4 x 5¢ is 20¢, John was multiplying.

Multiplication may be written:

4 x 5 =20 or 4
xh

20
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John has now learned to use the fol-

lowing signs;
Addition

2+ 2 = 4
(plus)

Memorize:

Subtraction

4 - 2

(minus)

1 nickel is 5 cents

2 nickles
3 nickles
4 nickles
H nickles
6 nickles
T nickles
8 nickles
9 nickles
10 nickles
11 nickles
12 nickles

are 2
are 3
are 4
are 5
are 6
are [
are 8
are 9
arell
arell

arel?

times
times
times
times
times
times
times
times
times
times

times

Ul U1 Ul Ul VU1 Ul o o Ul Vol

Multiplication
2 X 2 4
(times)

cents
cents
cents
cents
cents
cents
cents
cents
cents
cents

cents

or
or
or
or
or
or
or
or
or 50
or 55
or 60

cents
cents
cents
cents
cents
cents
cents
cents
cents
cents

cents




Multiplying By Two

Add the columms of 2's from one two to
twelve 2's.
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1. Count the columns of 2's from one 2
to twelve 2's.

2. Place your answer under each line.

3. Read the columms beginning, "one 2 is
2, two 2's are 4, three 2's are 6,"
and so on.

4. How many are two 2's? five 2's?
eight 2's? twelve 2's?

Complete the following table of 2's.

Learn the table.
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0x2= 3Ix2-= 6x 2= 10 x 2 = |
lx2= 4x2-= g X 2 = 11 x 2 = ;
2x2= 5§Hx2-= X 2 = 12 x 2 = !
i 9x 2 = 2 X0 = _J




Practice - Table of Two

1.

The edge of the _l. _
circle contains _2.

12 numbers.
Begin with 1. 4,

Multiply each F
number by two ..
moving clock gn
wise. .

Write each 9.

answer on your 10,
paper. Il

i

Supply the missing numbers.
_____2's 16 = 2's

4 =

Ee——

8 =

12 =

L

2 X 2
2 X 4
2x6
2 x0
2 x1
2 x5
2 X 3
2 X T

il

2's 6
2's 10
2's 14
2

2

2

2

1

6

10

8
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2's 18 = 2's
2'8s 20 = 2's
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11 21 10 & 12 0
X 2 2 X ¢ X 2 X2 X2
9 6 4 5 [ 1
X 2 X 2 x2 x2 Xz X2
11l 222 122 212 211 120
X 2 x 2 x2 X2 X2 X2
101 202 220 110 100 201
X 2 X 2 X2 x2 X2 X2
31 42 40 5l 92 20
X 2 X X2 x2 X 2 X 2
32 70 62 52 12 32
X 2 X 2 X2 X2 X2 X2
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39 49 59 79 85
X 2 x 2 X 2 X2 X 2
1y 16 17 18 19
X 2 X 2 X 2 X 2 X g
351 262 252 452 660
% 2 X 2 X2 X2 X2
6622 44511 2710 1621 1743
X ¢ X 2 X 2 X 2 X 2
3612 4602 2733 4534 3601
X 2 X 2 X 2 X 2 X
4251 3163 5372 6181 6554
X X_2 X 2 X 2 X
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8.
vulbiniying By Three
e e T T T e
3
33
333
3333
333331
333333
3333333,
.33333333
? 333333333
03333333333/
33333333333
333333333333
1. Count tHhe columns of 3's froiw ous 3
bo vasive 3's,
2. Place your wuswer under asach lline,
3. uwsad the columns uLeglindniy, "oas L5
3, bao 3's arc 6, barsc 3's arc 9,"
Gl 80 Clle
4, lHoa many .vo four 3's? five 3's?
six 3'8?
5. Comolebe the Tollorins b.078 c¢f 3's,
La.rn ohe taole,
- 0x 3= Z’x3= 9x 3=
¢« 1 x 3= X 3= 10 x 3=
2% 3= Z X 3= 11 x 3=
3%x 3= C X 3= 12 x 3 =
_3x3- 9 %3 3x0= |
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9 = 3's = 's 30 = 's
12 = 3's 18 = %'s %7 = %'s
1h = 3's 21 = 3's 24 = 3's

3z h= 3x8= 1Tx 3=
3x 3= 3 X 1C= 9x 3=
3 x 2= 3 x 12= l x 3=
3 X9 = g X 0 = 1l x 3 =
3 x 11= ) X 3 = 8 x 3=
3x 6= b %X 3 = 1C x 3 =
3xXx1-= 4 x 3 = 2 %X 3=
3xT= 3x 3= 0 x 3=
3 ¥4 = 12 x 3 =
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Mmultliolic. bLinn Proctic?
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) =24 7. () x5 =
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14.

Multiplying By Four

Add the columns of 4's from one 4 to
twelve 4's.

P NSRS L BENE R e ahenidd

4
4 4
L | 4 4 4
: 4 4 4 4
4 4 4 4 4
z 4 4 4 4 4 4
~ 4 4 4 4 4 4 4
4 4 4 4 4 4 4 4
444444444 !
4 4 4 4 4 4 4 444
44 4 4 4 444444
| 444444444444 °

Nt 808 B £ Wy A Sy £ A Siae®

1. Count the columns of 4's from one 4 to
twelve 4's.

2., Place your answer under each line.

3. Read the colummns beginning, "one 4 is 4,
two 4's are 8, three 4's are 12", and
SO on.

4, How many are three 4's? six 4's?
five 4's?

5. Complete the following table of 4's.
Learn the table,

P

0 x 4= 3x 4= 6 x 4 = 10 x 4 = 4

1 x4 = 4 x 4 = g X 4 = 11 x 4 = |

2 X 4 = b X 4 = X 4 = 12 x 4 = |
9 x4 = 4 x 0 =

U AR BRS  r bie e - LLAME L = e LAY CEarY L PR




Practice - Table of Four

1
i 3
1¢ 11
9 X 4 8
4‘ ".
% .2.5
12

The edge of
the circle
contains 12
numbers.
Begin with 1.
Multiply each
number by four
moving clock-
wise.,.

Write each
answer on
your paper.

Supply the missing numbers:

12 = 4
24 = 4
48 = 41

o NN N0 ol W
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16
31

12
1
1
10
8
4

4's 20
4's 28

___4's 36

3x4-=
Hh X 4 =
9x 4 =
2 X 4 =
6x 4=
11 x 4 =

15.
1.
2.
3.
4.
H.
6.
o
O.
Qs
10,
11,1
12,
= 4's
= 4's
= 4's
12 X 4 =
1l x4 =
1T X 4 =
10 x 4 =
8 x4 =
4 X 4 =




Drill - Multiplying By Four

State the answer to:

4 x 2 4 x 8 4 x 4
4 x 9 4 x 3 4 x T
4 x5 | 4 x 6 4 x 10
4 x 11 4 x 0
4 x 12 4 x 1

16. |

1x 4 5 x4 6 x 4 0x 4 2 X 4
3 x4 7 x 4 8x4 11 x4 10 x4

Problems:

Answer the following:

A dog has 4 feet. How many feet have
6 dogs?

A chalr has 4 legs. How many legs
have 4 tables?

A table has 4 sides. How many sides
have 2 tables?

How many fingers have 4 people?
How many thumbs have 4 people?

There are 4 quarts in a gallon. How
many quarts are there in 3 gallons?

12 x4
9 x4
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Multiplication Drill
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Review Drill in Multiplication

Multiply the upoer number by the lower.

Write the answer on your payer.

19,

Tell as quickly as you call which answer
is the correct answer.
28 28 A3
9 x 4 4 x T <36 10 x 3(30
32 32 24

3 %8 /%g 10 x_3 f%%
X 4 0_X {

. 24 \24

20 30

11 x 2732 > x 12 /32

\.24 \ 24

Suoply the correct answers:

x4 §-— . X-Am}»

28
4 X 6(%2

32
2 x 11 42
N22

44&4£L€ru
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Multiplying By Five

Add the columns of 5's from one 5 to
twelve 5H's.

137
| 55555
% 5 55555
5555555

, 55555555

5 555555555
i
5555555555555§

1. Count the columns of 5's from one 5 to
twelve 5's.

2. Place your answer under each line.

3. Read the columns beginning, "one H is
5, two 5's are 10, three 5's are 1) and
SO On.

4, How many are three 5's? four 5's?
six 5's?

Complete the following table of 5's.

l

Learn the table.

| 0 x5 = H X5 = 9 x5 =
! 1 x5 = 6 x5 = 10 x b =
2 x b = g X 5 = 11 x h =
3 X 5 = X 5 = 12 x5 = =
4 x b = bx0= |




Practice - Table of Five

e S l. The edge of the 1,
| | square countains 2.
8 9 12 numbers 3.
| 2. Begin with 1. 4,
10 12 Multiply each num. 5.
? ber by 5 moving 6.
311--6 4 toward the right. 7.
3. Write each answer_ 3,
on your paper. 9.
10,
11,
12,1
Suyply the missing numbers:
10 = 5's 15 = 5's: 5=___ 5'g
20 = 5's! 30 = 5'si 25 = __ g's
25 = H's O=...____5'SI 55 = 5's
5x 3 = 5 x 12 = 3x 5 = 12 x 5 =

b x2= b x 10 = 2 X hH = 10 x 5 =
5% 6 = b x8 = 6 x5 = 8 x5 =
5x1ll = 5x4 = 11 x 5 = 4 x5 =

e e e b o Attt T o S b B i B, AN U AR i it St




22.
Drill - Multiplying By Five
State the answer to:
5 x 2 5 x 8 5 x 4
5X2 5x3 5x 7
5 X 5 x 10
5 x 12 5% 0
5 x 11 hx 1
1x5 5x5 6 x5 0 x5 2 X5
3xhH Tx5 8x5 11x5 10x5
12 x 5 9 x5
Problems:

Answer the following:

l. A pencil costs 5¢. How much will 4
pencils cost?

2. IT there are 5 school days in a week,
how many days are there in 2 weeks?
‘[ weeks? weeks? 4 weeks?

3. John has 5 marbles. Fred has 3 times
as many. How many marbles has Fred?

4. A boy learns 5 new words in a day.
How many words will he learn in 5 days

5. At 5¢ a yard how much will 10 yards of
ribbon cost?

6. A lady buys 3 loaves of bread every
day. How much bread will she buy in
a week?

O e T I R Pt e b o e T T TSV e e e L N L At o
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Multiplication Drill

11 9 6 12 0 5
X% x5 x5 xXh x5 x5
21 4 8 10 7 2
x5 x5 x5 x5 x5 x4
11 31 41 51 61 T1
b. ] x5 X5 XhH X5 x5
6
ng x3g x4g xgg X % x7g
61 81 71 91 101 201
x5 x5 x5 xh X5 x5




Drill - Multiplying by Five

Write the correct answer:

2 Ji 3

LEL.%L;XJX__EL.% X5 x5

Q
E m " R o b R 5 25 o 5 i - -
‘

5xX3+2=  5xT=_x5 5x(
5%x5+ 1= 5x1=_x5 §5x(
5x3+ 3= 5x9=_%x5 5x(
Hh5 X6+ 2 = 5x2=_%xX5 5§5x(
5x8-3= bx __=4x5 5x(
5xX9+ 1= 5x _=6x5 5x(
5 X7+ 4 = 5% _=0x5 §x(
9x5+ 2= 5%x__=9x5 () x
8x5+1-= 5x3=3zx_ () x
6 x4+ 4 = 5x8=8x_ () x
TxX5H+ 5= bx2=2x_ () x
5x 5+ 4= 5xT7=7%_ ()x
3x5+5= 5x9=9x_ ()x
4 x5+ 3= 5xéb=6x_ ()x




Drill - Multiplying bV Five

If one nickel is 5 cents, fill ia the
blanks below:

2 nickels = ( ) sx () =29
5 nickels = ( ) 6x () = 20
nickels = ( ) 12 x () =60
‘ nickels = ( ) 11 x5 =( g

| 10 nickels 9x 5 =
| 9 nickels = ( ) (J)x §5 =40
| 12 nickels = ( ) ()x 5 =20
f 11 nickels = ( ) ( )x 5 = 35
4 nickels = ( ) (J)x§ =15
1 nickel = () 2x () =10
1x ()= 5
()x5 =50

Problems:

1. Ann's mother bought 5 boxes of straw=
perries at 15¢ a box. What did she pay
for 5 boxes?

o. John bought 4 tickets 1O the picture
show. The tickets cost 25¢ each. What
4id he pay for 4 tickets?

3. If oranges cost 45¢ @ dozen, what will
5 dozen of oranges Cost?

4. There are 16 ounces in 1 pound. How
many ounces are there in 5 pounds?

5. There are 12 inches in one foot. How
many inches are there 1in 5 feet?




Drill - Multiplying by Five

6. If ribbon costs 15¢ a yard, what is
the cost of 5 yards?

7. What 1s the product of 5 and 307
8. Mr. Steele bought 5 watermelons. What

26,

would they cost him if they were 55¢ each?

9. Mr. Smith drove 350 miles a day for 3
days. How far did he drive while on
his trip?

10. If bread costs 18¢ a loaf, what will
Jane pay for 3 loaves? ‘

Fi1l the blank with the correct number.

5 two's are hx 2= 2 X 5H =
5 three's are_ b x 3 = 3x g =
four's are _____ X 4 = 4 x 5 =
five's are____ X 5 = 1l x5h =
b six's are__ hFx 6= 6 x5 =
b seven's are__ h x g = T x 5 =
5 eight's are_ h x 3 = 0 x 5§ =
5 nine's are b X9 = 8 X h =
b zero's are Hh x 0 = X b =
2 4 6 8

2 % 4 ? 6 ; 8 8

> 34 2 ¢ 18 ¢

2 _3 _4 _§ 6 _1 8 _9

Problems: 1.How many cents are equal in
value to 5 nickels?

2. John bought ice-cream for himself and
seven friends. What would it cost if each
cone was 5¢.
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Multiplying By Six

Add the columns of 6's from one 6 to
twelve 6's.

:

NONONONONONON
lonONONONONONONON
IonONONONONONONONON
IonONONONONONONONONON
{ONONONONONONONONONONON
IONONONONONCONONONONONON

¥

e

1. Count the colums of 6's from one 6
to twelve 6's.

2. Place your answer under each line.

3. Read the colums begiinning "one 6 is 6",
"two 6's are 12", "three 6's are 18,"
and so on.

4, How many are three 6's? four 6's? six
6's? Complete the following table of
6's. Learn the table.

6
2 %2

56

6x0=0 0x6 =0

el e e
ONONONON
1N | I I |
N = OO
e Rl lie
ONONONON
o nun

INUSE NS
e
oo
el
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28.
Multiplying By Six
I 6 7 1. The edge of the 1.
: square contains P
12 1 12 numbers R PO
6 2. Begin with 6. 4,
3 x 9 Multiply each 5,
8 10 numbacr gy gh _%4”
moving to the -
4 2 5 ~ right. _ 3.,
3. Write each Qe .
answer on your 10
paper. Ale o
2
Supply the missing numbers:
12= 6's 18= 6's 48= 6's
24 = 6's 42= 6's  60= 6's
36+ 6's 30= 6's H4= 6's
() x 6 =136 () x6=48 () x 6 =18
2 ) X 6 = 26 ( ; xX6=42 () x6=24
) X 6 = 54 ()x6=6 ()x6=560
() x6=72 ()x6=12 () x6 =30
6x9 = 6x 7= 2 x b6 = 0x 6=
6 x4 = 6 x 12= 7Tx 6 = 5 x 6 =
6 x 3 = b6 x1 = 10 x 6 = 11 x 6 =
6 x 0 = 6 x 6= 9 x 6 = 3x 6 =
6 x 11= 6 x8 = 1 x 6= 8 x 6 =
6 x 10= 6x 2 = 11 x 6 = 12 x 6 =
6 x5 = 6 x 10= 4 x 6 = 6 x 6 =
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Practice - Multinlying By 8SiXx

State the answer to:

H O\ON
sl e

OO
N

alle Balia
ONONONO

o CONO ON

ONONONON
PqPdPd e
Y e e
SN

o
[4))
H.
™
D
N

p R
1
6's

ct
=
@

Vi
*

9 sixes

6 x 2
6 x 8
6 x 0
6 X9

eizght 6!

8 x 6 12 x
6 x 9 0 x 6
6 x 7 6 x 6
6 x 2 = g X 2 =
23 ec 2% 6 -
10 x 6 = 11 x 6 =
=18 6x()=36 6x () =260
DEe eItz eEtlIe
=24 6x()=48 6x () =130
=42 6x () =6 6x () =12
= four 6's = 11 times 6
= 7 sixes = 12 times 6
s=___ 10 sixes = 1 times 6
= five 6's= " 6 times 6
_____x 6 6x3=___1x6
___x6 6x4=___x6
____x 6 6xT7=___x6
X 6 6x9=___x6
x 6

I

R R PRI S AN I A PRI R T A A A e s B T d” e Bk s 10 . oy el i 2] "

29.
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30
Practice - Multiplying By Six
1. The edges of the 1,
T~ 12 circle contains _2.
“ | 12 numbers. 3.
5 6 2. Begin with 7. 4.
8 x6 1 Multiply each 5
0 number by 6 6.
9 3 moving clock Lot
4 2 wise, S.1
11 3. Write each 9.
answer on your 10, +
pajer. 1le
12,

Obey the sign and write the answers on the
blanks.

9 - .. /—_

8 / -
e

6 K N

4 _—

5

Multiply the upper numbers by the lower.
Write the answers on your paper.

*

6 T 9 6 8 10 3 6 6 11 &6
. ‘\\ Y K . ~,\ | -"«.‘ ' . ',:"7 )
X X X.X.X X xX X, ,x,%x X
5

4 6 6 5 6 6 ‘6 2 2o &

. TSNS Y,
3




31.

| Multiplication Drill

How much must I pay for:

Two 6 cent erasers?
Eight 6 cent tarts?
Four 6 cent tops?
Ten 6 cent rides?
Three 6 cent cakes?
Seven 6 cent balloons?
Nine 6 cent candies?
Five 6 cent brushes?
8ix 6 cent whistles?
Six 8 cent melons?
S9ix 4 cent pencils?
Six cent tickets?
Six cent cakes?
olx 9 cent crayons?
Six 3 cent papers?
Six cent oranges?
9ix 2 cent stumps?
oix 10 cent pies?

o

»)

7 8 9 6 11 12 5
7 8 9 6 11 12 5
T 8 9 6 11 12 5
7 8 9 6 11 12 5
7 8 9 6 11 12 5
+7 8 _+9 6  +ll 12 45




Multiplication Drill

10 8 0
x6 x6 x 6
4 5 2
x6 x6 X 6 6
122 212 1

x 6 x 6 x6 xb
220 100 500
x 6 x6 x6
40 2

x 6 x6 zx6
3 2 2
x6 x6 x6
6 8

- £8 x8
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Multiplication Drill

16
x 6

2
x'6

>4 Lo
o

a

(O o

0
28

P4~
O\

P
o\

>4
oNO

4
onNO

o
oNH

|
|

>
ONH

o\

L

>4
oo

o2 |
cO
ONH




MULTIPLICATION DRILL

Problems for Six Table

1.

If there are 6 rows of seats and 6
children are seated in each row, how

. many pieces of paper are needed for all?

At 6¢ each, what is tthe cost of 8
oranges?

At 6¢ each, what is the cost of 9 paint
books?

If there are 6 buckles on one shoe, how
many buckles will be on three shoes?

If one melon costs 6 cents, how many can
you get for 18¢?

Jumping rope is 6 ft. long, how many
feet of rope is needed for 6 children?

There are 6 apples in a basket, how many
in 7 baskets?

If 6 oranges cost 24¢, how much will a
dozen oranges cost?

Tom works 6 days a week and gets $5.00
a day, how much does he make a week?




10.

11,
12.

13.

14.

16.

17.

QO  ameciesmsmam o

Multiplication Dril

————

IT shoes cost $2.98 a pair, what will
pairs cost?

One flower costs 60¢, what will 6 cost?

Each child took 2 sandwiches, how many
would 6 children take?

SiX gloves were lying on a Counter,
how many pair would that be?

At $2.75 a ticket, what would six
tickets cost?

I a pencil cost 6 cents, an orange

cents, a cake 6 cents, a pack or gum
6 cents, an eraser 6 cents and a box
of crayons 6 cents, how would you find
the cost of all?®

Jack made 2 large houses. He used &
blocks for each house. How many blocks
did he use for both houses?

Bob and Billy each made door steps,
each boy used 6 blocks. How many would
they need for 5 door steps?

T TSR ma e )
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Multiplication Drill

18. 2 sixes are Fx 6 =
2 X6 = 4 sixes are
2 times 6 is 8 x six =

19. 3 sixes are

55 I—

20. Mary bought 3 new pencils for 6¢ each,
how much did both pencils cost?

2 times 3 1is
2 ones + 4 are
2 X 12 =

21. Joe has three piles of paper to sell.
There are 6 pounds in each pile. How
many pounds does he have in all?

22. Bobby and Betty each spent 6gZ. How
much did they both spend?
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Review

S A L 1 .

Multiplication
ev

Multiply the number in the center of the
star by each number inside and outside
the circle. How many perfect answers

can you give?

2 2
8 6 8
9 10 N 9
T 5
3
11 12 11
2
6 . 8
10-- - - 9
12 11
2 2
8 6 | 8
\ T
v .9 10 9
2 /5
T .5 T
3,/"{ / 3 #,f’
11 12 "7 11



Multiplication Review

Quickly choose the correct answer:

State the answer:

6x 6+ 2

5+2x5
4 x8 -2

?
?

?

P PP MM

of:

H H ONUNT
N+

O 0O 3 o

10.

48
2. x 12 /24
44

O oN W S \n
| MM 1 +
Uil O O ON \\n
o T o - B
w N D p
I il i ! 1l
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39.

s LT 3 TTON REVIEWN

Supply the missing number:

1. 6x () =42

12 x () =24 6. () x9 =54

4 x () =136 T. () x 4 = 48

11 x () =55 8. () x 3= 33

. 3x () =236 9. () x =40
10. () x7=235

2
3
4
5

Find the Product:

652 01 821' 0 222 4
¥s % a1}z g

8634 921

721 0 1
X X 2 x 6 X 4 X 5 X 6

O\

J

eview Problems:
. What will 2 chairs cost at $134.25%
Multiply 179 x 6 and add 10.

|

1
2.
3

. There are 24 hours in a day. How many
hours are there in 6 days?
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40.

MULLTIPLICATIO. REVIEW

4. Find the cost of 5 acres of land at
$525.75 per acre.

5. If one table costs $75.79, what will
4 tables cost?

6. TFind the cost of 4 pair of shoes at
$9.25 per pair.

T. At $12.45 per ticket, what will 6
railroad tickets cost?

8. How many days are there in 6 years?

9. Mary paid 5 cents a yard for ribbon,
how much must she pay for 45 yards?

10. If there are a dozen pencils in a case,
how many peuncils are there in 6 cases?

11. In a group of 8 persons each person was
given 6 tickets to sell. How many
tickets will be sold if each person
sells all he has?

12. John works 6 days. He earns $5.85 per
day. How much money does he earn?

Q T

| ERIC




13.
14,

20,
21.

22,

Multiplication Review

How many ounces are there in 5 pounds?

There are 12 children marching in 4
rows. How muny children are marching?

A train moves at the rate of 24 miles
per hour., How far does it travel in 4
hours?

There are 36 inches in a yard. How
many inches are there in 5 yards?

Find the cost of 10 books at $2.25
per book.

Multiply 4325 by 5.

Find the difference between 875 x 5
and 246 x 6. |

From the product of 12 x 7, take 24.

At 58¢ per dozen, find the cost of 5
dozen eg-s.

How many days are there in 6 months?




23

24 .

26.

27

28.
29.

30.

MULTIPLICATION REVIEW

e e e

Find the cost of 4 rugs at $35.25 each

1234 x 3 = °?
Multiply $734.65 x 4.

Take 100 from 267 and multiply the
answer by 3.

At 30¢ each, find the cost of é note-
books.

bx3x2=7

IT you save $1.25 per week, how much
money will you save 1in a month?

2 x4 x5 =27

In & room there are 5 rows of chalrs.
In each row therg are 12 chairs. How
many chalirs are tiere in the room?




Multiplying by Seven

Agd the colums of 7's from one 7 to twelve
1's.

I
| 77
; 777
z T77T7:
| 177777
T777T7TTT:
T T Y O
% O A A S R A
] TT7T7T7TTTTTT]
: TT7TT7T7TT7TT7T7TTT
; TTT7TT7TT7T7T7T17
417111771111 11
l ,

4y

1. Count the columms of T7's from one T to
twelve T's.

2. Place your answer under each line.

3. Read the colums begin.ing "one T is 7,
two 7's are 14, three 7's are 21!, and

80 on., %
4, How many are five 7T's? three 7's? six 3
7's? four T's? seven T's? ten T's? |
Learn the table. i
1x7 = b xT= 9x 7=
2x7 = 6 x 17 = 10 x 7 =
| 3x 7= Tx17-= 11 x 7 =
4x 7= 8x17-= 12 x 7 =
| 0 x 7= 7Tx0 =

N L RSN TN 2 i o = L L . i
e Ny S
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Practice - Table of Seven

l. Begin with the
) number 5. Move
- clockwise.
6.. 7 2 8 2. Multiply each
h \ number on the star
0 x7 10 by the number in
. 2 the center.
3 .11 4 12 3. Write sach answer
' on your paper.

Supyly the missing numbers:

14 = T's 2] = T's 84 =_ Trg

e he #—hs —1s

7T X 2 = T X 3 = X T = 2 X T
Tx4 = 7Tx 7= X 7 = 5 x T
7T xX 6 = 7T x10 = 10 x 7 = X 7
7x0 = T x12 = 8x 17 = 11 x 7
17x1-= 1Tx9 = 3x 7= 4 x 7
7T X 5 = T x11 = X 7 = 12 x 7

How much must I pay for:
ITwo 7 - cent whistles?
Six 7 = cent brushes?
Nine 7- cent balloons?
Six T - cent rides?

seven 7 - cent pencils?

!




Practice - Table of Seven

How much must I pay for: (Cont'd.)

Bight 7 - cent candies?
Ten 7 - cent papers?
Bleven 7 - cent rulers?
Four 7 - cent pens?

Seven 3 - ceut stamps?

Seven 5 - cent crayons?

Seven 8 - cent cards?
Seven 2 - cent cakes?
Seven 10- ceut knives?
Seven T - cent oranges?
geven 8 - cent tops?
geven 11 - cent pictures?

geven 12 - cent books?

T 8 6 9 11 12 5
| T 8 6 9 11 12 5
i 3 6 9 11 12 5
T 8 6 9 11 12 5
| T 8 6 9 11 12 5
T 8 6 9 11 12 H
7 & 6 & 1 1z 2

g4 L TN I T T
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46,

Drill - Multiolying by Seven

atate the answer Lo:

6 x g 9 x T T X T 6 x T

T X T X0 10 x 7 4 x

7 X 3 T x 12 7 x 11 7Tx5

7Tx () =42 7x () =1 7x () =21
7Tx () =11 7x () =084 7x () =235
7x()=28 T7x()=1 TX () =56
7x()=4 T1Tx()=0 7x () =63
3 sevens are four 6's are

two sevens are 7 sevens are

eight T's are 10 sevens are

9 sevens &are eleven T's are
Tx2=___ X7 7x3=___XT
Tx8=___ xT Tx4=___%XT
7Tx0=___X d| 7x 10= ___ X [
7Tx9=____X T 7 x 12=___ X 7
7x8=__%x1




Practice - Multiplying by Seven

12 1 6 7 9. 1. The edge of the

| rectangle contains
4 T 5 12 numbers.
- . 2. Begin with number
10 .2..8 11. .3 6 and moving to the

right multiply each
number by T.
a. b. c.__d. e.__3. Write each answer
onn your paper, after
f. e h._ 1. Je a letter, 11 order

Obey the sign and write the answers:

Tx3+5= Tx2-2-=
Tx6+ 2= 5x7-5=
Tx5H+5 = 8xT-1=
7Tx6+1-= 9xT-3=
6 . S
3 N
4 S
5 x T = S
3 t I
10 A
9

TP T T



Multiplication Drill

9 6 5 2
X7 x 7 X7 xT X1
0 8 10 12

x 1 x 1 x 1 x 1
202 301 112 404
x 1 x 1 x 7 x T
51 80 91 31
x 1 x T x T X7
111 121 190 1 800
X x 1 x 7 x 7 x 7
39 63 83 53
b A x T X x 1
66 47 36 17
x1 x 7 x 1 x 1
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49,

109 206

802

$3.68

Full Tt Provided by ERIC.
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Multiplication Drill
$20.17 $45.16 $35.09 $145.75
x1T —x17 x 1

X

Copy and find the answers:
$.07 x 3 + $.01 = ? $1.00 x 7 + $.25
$.07 x 6 + $.05 = 2 $12.00 x T + $1.00=

Tx5H+ 1= ()xT=1T0
T X é + 4 = () 7 =24
Tx8 + 4= E ) x [ = 84
T X6+ 3 = ) x [ = 14
2 X7 -1= 1 X g = T X
1T x7=-9= 1TxX0=17%X ____
10 x 7 =10 = TxXx5H=17TZX%
11 x Z -7 = TxX3="17TX%X
Tx () =49 T X Z = 2 X
Tx () =35 TX6=06x____
7Tx () = 7Z 7 x 11= 11 x
Tx () =5 T x4 =4Xx

PROBLEMS

1. There are 7 duys in a week. _How many
days are there in 2 weeks? 8 weeks?
nine weeks?

T N P ST S e T e St B

2. IT a dozen pencils are in each case,
how many pencils are there in 7 cases?




Multiplication Drill

Problems (Cont'd.)

11.

12,

13.

14.

There are 10 children marching in each
of 7 rows. How many children are marching?

There are 12 inches in a foot. How many
inches are there in 9 feet?

Mary paid 5 cents a yard for ribbon.
How much must she pay for T yards?

There are 36 inches in a yard. How

many inches are there in 2 yards?

9 yards?

At $.07 each, what will 12 whistles cost?

If a train sgoes 50 miles an hour, how far
will it go in 7 hours?

At $12.50 each, what will 7 coats cost?

At $35.00 each, what will 7 writing desks
cost?

If an acre of land is worth $120, what is
the value of 7 acres?

I N S P P P U e

If a man earns $52 a week, what will be
earn in 7 weeks? g

A farmer plants 7 acres of wheat each year.
How many acres will be plant in 8 years?

Multiply $624,45 vy 7.

There are 70 apples in a crate. How many
are there in 7 cr.utes?




16.

17.

18.

19.

20.
21.
22.

23.
24,

25.
26.

27.
28,

Multiplication Drill

Problems (Cont'd.)

IT there are 32 students in a class,
how many students are there in 7 classes?

Each persou in a group of 7 were given
15 tickets to sell. If each person sold
all gf his tickets, how many tickets were
sold

There are 144 square inches in a square
foot. How many inches are there in q|
square feet?

There are 4 quarts in a gallon. How many
quarts are there in 7 gallons?

How meny ounces are there in 7 pounds?
How many months are there in 7 years?
How many days are there in 7 months?
There are 11 chairs in a row and there
?ggmg rows. How many chairs are in the

At $.07 each, what will be the cost of
2 dozen oranges?

What is the value of 7 chairs at $60.00 each:

A Dbook is worth $2.50. What is the value
of 7 books?

A lamp is worth $7. Wanat is the value
of 30 lamps?

IT shoes cost $2.95 a pair, what will
T pair cost?
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53.

Multiplication Drill

Problems (Cont.)

29. At $1.72 a ticket, what will 7 ticketls
cost? '

30. A man works 7 days and earns $5.25 a
day. How much does he earn?

31. If one table costs $250.50, what will
7 tables cost?

Practice - tell as fast as you can which
number 1is correct: '

7 a1
1o 12x7 /8 6 1x0 79
Y _35 IR

2. _7x9 63 T. 6 x 7 _-" 42
il o 42 \ §.ﬂ:

3 . . "/‘3.57 8 . 2 wiz
B8 xT. £ 56 Hx T 25

\\77“ “Q. Nt s 10 g \.~““ 3

. /84

4 Tx4 . - 28 9. 11 Xl,«{ 17
~56 T 19

e 5

5.  3xT7 - 21 10. 7 x 12 7 84
. e A \ \‘2—8‘ i sy o < W N, ‘&.‘2

Find the answers:

l. 2+ 2x 7= 6. 3+ 4 x17-=
2. Hh=-1x17-= T. H+2x17-=
3. 3+2x17-= 8, 8+2x17-=
4, 10 - F x T = 9. TxH + 1=
5. 44+ 1x 7= 10. 7x4 -3 =




Multivnlyving by Eight

Add the columns of 8's from one 8 to
twelve 8's. . e e

8

8 8

8 8 8

8888

88888
8388888
8883838388
388883888
8888888838
83888888888
8388888388
8888888888838

1. Count the columns of 8's from one 8 to
twelve 8's.

2. Place your answer under each line.

3. Read _the columms beginning "one 8 is 8,
two 8's are 16, three 8's are 24," and
SO on.

4., How many are four 8's? three 8's?
six 8's? ten 8's? seven 8's? twelve 8's

by -

1x8-= 5 x 8 = 9 x 8 =

2 x8 = 6x8 = 10 x 8 =
| 3x8 = 7x 8 = 11 x 8 =
4 x 8 = 8 x 8 = 12x8= |
% 8x0 = 0x8= |




Multiplying By Eight

A B

C

Begin with number 8 on
the hexagon.

Moving to the right,
multiply each number
on the angles by the
number in the center.
Write each answer on
your paper.

D E F

—————————— R —————— SEp e ——

ouUpply the missing numbers:

16 =
24 =
32 =

8 x 3
8 x 7T
8 x10
8 x12
8 x9
8 x11
3x8
11 x 8

it

il

88

72
84

N -3 0O 0o 00 o 0 OO

> - S - B B S o B

—
—

coO 0O u»vu N B O O H

____8's
____8's 40

____8's

O~
>

il il
O 0o
m o

i i ] i il il
H &~ O ® W
T < B - B < B
o O 0O 0 O O
I il il i i il

i
i

12 x 8

it
\O
o
Qo
il



Multiplying by Eight

How much must I pay for:

Eight 9-cent books?
Eight 4-cent cakes?
Eight ll-cent tops?
Eight 7-cent rides?
Eight 10-cent rulers?
Eight l2-cent knives?
Eight 8-cent cards?
Eight 3-cent pencils?
Eight o-cent pens?
Eleven 8-cent balloons?
Four 8-cent pictures?
Ten 8-cent stamps?

Two 8-cent brushes?
Two 8-cent books?
Twelve 8-cent crayons?
Nine 8-cent boxes?
Eight 8-cent candies?
Seven 8-cent apoles?

10 9 12 6
10 9 12 6
10 9 12 6
10 9 12 6
10 9 12 6
10 9 12 6
10 9 12 6
10 -2 12 _6

'(I)CDOOCD(I)COCDCD

R Py G ™

11
11
11
11
11
11
11

11

e e — e —




Drill -

00003
s Ralle

o G000

COCO00000

sl alalia

imnt

CO00COCOCO
PP P Pe
CONY O\C O™
O L [ I

Multiplying By Eight

State the

eight 8's are
7 eightg are
eleven 8's are
9 eights are

8x 6+ 1=
8x3+5
8 x 2+ 3
8 x4+ 2

o——
——e

owann
—

00]00]00/00.00)

Rl

answer to:
5 x 8
g x 8
x 11
x () =24 8x
x () =88 8 x
x () =16 8 x
x () =56 8x
6 eights are
twelve eights
10 eights are
five o's are
8 x 11 = ____
8 x 10 =
8 x 12 =
8x7 =

Obey the signs and write the ANSWers:
9x8 -2 =
10 x 8 -10 =
5x8-5=
7x8 -6 =

oooNCO

Pd P4 e

i unh
GO \O—3
O QOO

PP

Co0000C0



Multiplying By Eight

Drill - State the answer to:

8 8 x 0 8
g § 8 8 § 12 § § 8
8 x 3 10 x 8 x 11
8 x () =48 8x () =24 8zx
8x () = 64 8x ()=8 8x
8x () =32 8x()=16 8x
8x () =40 8x () =5 8x
eight 8's are 6 eights are
7 eilghtg are twelve eights
eleven 8's are 10 eights are
9 eights are five o's are
8 x 6 = x 8 8 x 11 =
8x9 =, x 8 8 x 10 =
8x 0 = x 8 8 x 12 =
8 x 2 = x 8 8x 17 =
8 x 8 = x 8

r—— o el Bt e e e e e e e 2 e

57

8 x 12
6 x 8

8 x 4
() =12
() =96
() =8
() Z 8o
are

x 8

x 8

x 8

x 8

Obey the signs and write the answers:

8x 6+ 1=
8x 3+ 5=
8x2+ 3=
8x4+ 2=

9x8 -2 =
10 x 8 =10 =
5x8 - 5§ =
7x8 -6 =

4
. |
et g v




Multiplying By Eight

2 ; : ! 1. There are twelve
: ; numbers on the ladder

.8 L 2 Beginning at the

1 — bottom, multiply each
10 g ; numpber by 8.
—d . x 8 =. — 3. Write each answer on
: : _ : your paper.
11 L '
I 2 . ‘

|

——

|

T

\H




59.

Multiplication Drill
8 12 )

x 8 x_é x 8 x_g x 3 z_g
4 10 0 6 11 g
x8 x38 x8 x8 x8 x0o
101 81 0l 0 111 41
W8 % £8 x8 k8
1 110 0 11 61 401
zf& x8 z?& é.& x8 x8
211 801 910 806 700 4og
x8 x8 x8 x8 x8 xo
62 24 120 421 621 432
x8 x8 x8 =x8 =x8 x8

6 64 2 2 18 2
;;EE_S X X38 X g x 8 X g

|




Multiplicatbtion Drill

2 42 1
x_é x 8 zig 3,5
1 480 20 811
ii_ x 8 z_g x 8
612 808 71 216
X X_ﬁ X O K~§
5111 7080 6021 5012 9010 7211
X x 8 X ‘x 8 x x 8
2314 0 62 4605 8816 81
% 9X3g X3g X g x 8 7X %

$.6' b4 .36 . 66 B1.

S g — S —————

$2.7 $5i6§ %7%23 $9kl§ $4Oi2§ $53ifé

6.48 $125 .2 665,
#3 x 8 ’ 5x g : 5z3g
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61.

Multiplicution Drill

Copy and find the answers.

$.08 x 3+ $.01 = ? $1.00 x 8 + $.35 = %
$.08 x g - $.03 = ? $12.00x 8 + $1.00= ?
8x 7T+ 1= () x8 =32
8 x g + 5 = ( % x 3 = 24
8x 3+ b= () x8 = 56
8 x g + 9 = () x8 =40
3x8 -4 = () x8 =16
7x8 - 6= 8 x8 =
10 x 8 - 10 = 8x 7=
11 x 8 -8 = 8 x 4 =
8x () =56 8 x 11 =
8x () = gz 8 x 2 =
8 x () =88 8 x 6 =
8x () =96 8 x 12 =
8x 3=

Problems

Stute the correct answers.

1. There are 7 days in a week. How many
days are there in 8 weeks?

5. There are 8 pencils iu a box. HoWw many
pencils are in a dozen boxes?

3. If a train goes 18 miles per hour, how
far will it go in 6 hours?

4. At $80.00 each, what will 9 desks COST?

5. If a chair is valued at $12.50, what
is the value of 8 chairs?




Multinlication Drill

Problemg: (Cont'd.)

6.

10.

11.

12.

13.
14,

16,

17.

13.

20.

If ribbon is worth 8¢ per yard, what
will 22 yards of ribbon cost?

There are 12 inches in a foot. How
many inches are there in 8 feet?

If an acre of land is worth $3.50, what
will 8 acres of land cost?

There are 36 inches in a yard. How
many inches are there in yards?

There are 26 students in a class. How
many students will there be in 8 classes
of the same glze?

There are 144 square inches in a square
foot, how meny inches are there in 8
square feet?

How many quarts are tiere in 8 gallons?
How many pecks are there in & bushels?
How many minutes are there in 8 hours?
How many ounces are there in 8 pounds?

Find the cost of 8 books at $2.75
per book.

Find the cost of 8 houses at $4235
per house.

There are eight buttong on a dress.
How many buttons are there on 36 dresses

A box weighs 318 pounds. #What is the
weight of 8 boxes having the same welght?

What is the cost of 8 hats at $8.95 each?
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Multiplication Drill

Problems (Cont'd)

A SRS

21.

22.

23

24 .

26,

27 .

28.

29.

30.
31.

32,

What must you pay for 4 neckties at

$3.75 each?

Allamp costs $8.45. Find the cost of
8 lamps.

I shoes cost $5.98 a pair, how much
will 8 pairs of shoes cost?

Tf a railroad ticket costs $16.28,
what will 8 tickets cost?

A man works 8 days and earns $8.55'per
day. How much money does the man earn?

How meny days are there 1l 8 months?
in 8 weeks?

A baseball team bought 9 sweaters at
%4.12 cach. How much did the sweaters
cost™

Find the cost of 3 rugs at $8.80 a
plece.

In an orchard there are 42 trees in
a row. How many trees are there 1in
8 rows?

A suit of clothes cost $45.75. Find
the cost of 8 suits.

There are 8 dozen eggs in a crate.
How many eggs are there in 2 crates?

At S0¢ a yard, find the cost of 12
yards of cloth.
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Multiplication Drill

Problems (Cont'd)

33.
34.

35.
36,

37.
33.
39.
40,

41.

42.

43.
44,

Multiply $624.45 vy 8.

At $1575 each, what will 8 automobiles
cost?

Multiply 382 by 8 and add 4.
Multiply 892 by 8 and subtract 5.

Mr. B. puts $8.00 in the bank every
week. How much money will he have 1n
the bank at t he end of a year?

If a train goes 35 miles per hour, how
far will it travel in 8 hours?

A team wins 8 games in a week. How
many gemes will it win in 9 weeks?

Find the cost of 8 tables at $12.75
each.

The rent for an apartment is $45.25
er month. What will the rent be for
months? for 1 year?

What is the difference between 8 x 75
and 46 x 87

Find the sum of 8 x 27 and 8 x 54.

Find the difference between 8 x 62
and 33 x 8.

Multiply $240.85 by 8 and subtract
$110.25.,




Tell as fast as you cail which number 1s

Multiplication Drill

correct:

1.

8 x 8

5. 10 x 8

Find the answers:

1.
2.
3.
4.
5.
6.
1

3+2x8
8 -1x8
4 + 5 x 8
8x2 -6
9 x3 +1
5+ 6 x 8
8x8 + 2

——
—

il

il

il

M,

56
6. 8 x 12 © 96
.3\6
88
7. 4 x8 _ 56
40
8. 11 x 8 - 88
6
9. 8 x 1 g ;2
™32
64
10. 8 x5 35
25

8. 7x 8 -6 =

9. 12 x 8 + 1
10. 8 x 11 - 8
11. 9 x 8 - 10
12. 8 x 4 + 17
13. 8 x 6 - 8
14, 6 + 6 x 8

i

il

i

i




Multiplying By Nine

Add the columns of 9's from one 9 to
twelve 9's.

9

9 9
999
9999
99999 |
999999 .
9999999
99969999 |
; 999999999 .
; 9999999999 !
; 9999999999 |
| §93999398488 ¢

o
: 40

L IO TS DL Tt

1. Count the colurms of 9's from one 9 to
twelve 9's.

2. Place your answer under each line,

3. Read the columns beginuning "one 9 is 9,
two 9's are 18, three 9's are 27, four
O's are 36 and so on . . .

4. How many are three 9's? five 9's?
eight 9's? nine 9's? six 9's?

Learn the table:

ro- .g.ivg.;m. . é,xuéw;.
2 X9 = 6x 9 = 10x9=

. 3% 9= 1 X 9 = 11l x 9 = E

4% 9-= 8x9 = 12x9 =

0 x9 = 9x 0 =

cccccc
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Practice - Table of Nine

.6 1. There are 12 arrows
A0 2 on the circle.
1 ' >, Beginning with 6
3 multiply eacii number
10 on the arrow by 9.
8 3. Write each angwer on
12 4.7 your paper.

A, B. C. D. E. F. G. H,
L. J. K. L.
o

upply the missing numbers:

18 = __ 9's 27 = ___ 9's 45 =+ =~ 9's
36 =__9's 54 = ___ 9's 63 = __ 9's
12 = __ 9's 1=__ 9s 90 = ___ 9's
State the answer:

9 x 4 x 10 5 x 9 4 x 9

9 x 0 X 9 7 x 9 6 x 9

9 x5 9 x 12 9 x 9 8 x 9

9 x Z 9x9 11 x 9 10 x 9

9 x 9.x 11 1 x9 12 x 9
9x 3 9 x2 3x9 2 X9

How much will Mexry pay for:

Nine 3 - cent stamps?

Nine 5 =~ cent apples?

Nine 10 -cent books?

Nine 7- cent rides?

I R

Nine 6- cent cakes?

Nire 12 - cent knives?

Nine 2 - cent stamps?




Practice - Multiplying By Nine

How much will Mary pay for:

Nine 4 - cent cookies?

Nine 9 - cent cards?

Nine 8 - cent papers?

Eleven 9 - cent pens?

Five 9 - cent books?

Three 9 - cent pictures?

Bight 9 - cent boxes?

Seven 9 - cent pads?

Twelve 9 - cent pencils?
Four 9 - cent articles?____

Six 9 - cent balls?

Ten 9 - cent pins?

Two 9 - cent brushes? __

9 12 11 10
9 12 11 10
9 12 11 10
4 12 11 10
9 12 11 10
9 12 11 10
9 12 11 10
9 12 11 10
2 _12 Ll 0

lCDCDCDCDOOOOCD(D(D

i
!
o
]

}JT\J\\RU'L\IL\R\H\R\R




Drill - Multiplying by Nine

7Tx9 9x0 h X g Z X 4
9x 9 g x 12 9 x X 9
3x9 x 9 9 x 11 2 X9
9x () =15 9x(g=27 9x(g=72
9x () =20l 9 x ( =29 9x () =9
9x () =236 9 x ( g = 63 9x () =20
9x () =45 9x ()=108 96x () =90
nine 7's are 5 nines are
8 nines are eleven 9's are
twelve 9's are 10 nines are
[ nines are 4 nines are
9 x g = ___ X9 9x6=__%x9
9x0=__X9 9x9=__xX9
9x 10= ___XxX9 9x 7T =___%x9
9x 12- ___x9 9x4=__1x9
9x1l1= __ X9
Sy - 1. There are 10
q11 numbers in the
o — blank blocks.
'mﬁ S— 2. Beginning at the
10 - top, multiply each
1 9%0= number by 9.
x9= — 3. Write each’ answer
m7‘ — on your paper.
ol —
I 1 E—
4’ -
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Practice - _Multiplying By Nine

Obey the signs and write the answers:

T

I O |
o <M
1 4+ 4+ 1
ONONONON
PI PSP M

—N\O ¢ I~
—i I

~X 9

hnunnh
— NN
1T + 4+ 1
eatagaVAToN ‘
SRR R

oononos /S N0 & 0 NE-Q o

A

.
~
Ay




Multioslication Drill

411
x 9

501

x9

201

[

[
\J1
o

O
O
o

’
’

Qo
O
o

E,\)
N
o

[z
N
—3J

’
-3
o

B
(U8
N

205

’
a

-3
O
N

116

3
o
o

’
-3
(.

ol
O

[




Multiplication Drill

12.

7031 6012 8010 7211 2313
X 9 X9 X9 X 9 X 9
8034 4605 9191 7213 8824
X 9 X9 X9 X9 X 9
$.54 $.47 $.38 $.63 $.82
X 9 X9 X 9 X 9 X 9
$.29 $1.47 $2.63 $5.65 $7.38
X9 X9 - x9 _X9 X9
9.10 $50.35 $46.26  $37.18  $42.35
X9 _x9 __x9 .x9 __x9
$132.64 $537.82
X 9 X

Copy and find the answers:
$.09 x 2 + $.02 = ?

$.09 x 6 - $.04 = ?

$1.00 x 9 + $.45 = ?
$15.00 x 9 - $1.00 = ?
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Multioplication Drill

Find the answers.:

9 x4+ 2=27 9x ()=8L 9x9-=
9x8+1=2? 9 x E g = 93 9 x 11=
9x 5+ 5H=27 9 x =1 9x 7 =
9x 3+ 3 =7 9x () =108 9x4-=
3x9=-T7=7 ()x9=3 9x6-=
1TxX9-3=27° () x9= ZZ 9 x 8 =
10 x 9 - 10= 7 ( g x 9 =63 9 xl2=
11 x99 - 9= 7 () x9 =90 9 x 15=
Problems

State the correct answers:
1. At $1.25 each, what will 9 caps cost?

2., A yard of goods costs $1.15, what will
be the cost of 9 yards?

3. There are 19 students 1in a class, how
many students will there be in 9 classes
of the same size?

4, If a table is worth $15.25, what will
9 tables be worth?

5. There are 9 square feet in a swuare yard.
How many square feet are there in 27
square yards?

6. Find the cogt of 8 books at $3.75 per
book.

7. If a package weighs 9 pounds, how much
will 19 packages welgh?

8. What must you pey for 9 hats at $6.25
each?




Multiplication Drill

Problems: (Cont'd.)

9.
10.
11,

12.

13.
14,

20,
21.

22,

23,

24,

How many ounces are there in 9 pounds?
Multiply 8135 x 9 and add 2.

If there are 29 apples in a bhasket,
how many apples will there be in

9 baskets.

A box of candy costs $1.59, find the
cost of 9 boxes.

How many days are there in 9 weeks?

At T75¢ per yard, find the cost of 9
yards of ribbon.

Find the cost of 9 dozen oranges at
55¢ per dozen.

Multiply 675 by 9 and subtract 125,
Multiply 586 by 9 and add 100,

The rent for an apartment is $62.50 per
month. What will be the rent for 9 months?

Find the sum of 9 x 49 and 62 x 9.
Multiply $565.85 by 9.

If a suit of clothes cost $36.95, what
will 9 suits cost?

There are 9 dozen eggs in a crate, how
many dozen are there in 12 crates?

A student spells 25 words correctly
each day for 9 days, how many words
has he spelled correctly?

How many inches are there in 9 yards?




Multiplication Drill

Problems: (Cont'd.)

25.

26.

27.

28.
29,

30.

31,

32.

33.

34.

35.

If the perimeter of a square measures
6 inches, what will be the measurement
of 9 squares of the same size?

Allowing 5 yards of cloth for a suit

how many yards will be needed for 9 suits?

Mrs., Brown is making curtains for her
windows. If 5 yards of good are needed
for each window, how many yards will she

- need for 9 windows?

How many hours are there in 9 days?

A man truvels 9 miles each day in going
to and from his work.. How far will he
travel in 24 days?

How many sheets of paper will there be
in 9 reams of 500 sheets each?

There are 320 rods in a mile. How many
rods are there in 9 miles?

If Mr. Jones used 9 gallons of gasoline
each week, how many gallons will be use
in a year?

If a2 family uses 2 quarts of milk every
day, how many quarts of milk will be
needed in the month of April?

In & certain regiment there are 2860
soldiers: How many soldiers are there
in 9 regiments of the same size?

Mrs, White pays $62.50 per month for an
apartment. How much rent does she pay
if she lives in the apartment 9 months




pMultiplication Drill

Problems: (Cont'd.)

36.

37

41,

42.

Multiply 468 by 9 and then multiply
by 2.

A barrel of flour weighs 196 pounds,
find theé weight of 9 barrels.

Find the cost of 9 charis at $47.35
each and 9 tables at $15 each.

Ei?d the sum of 287 x 9 and 9 times
‘5.

Egke 49 from the product of 9 times
4

Multiply $734.65 by 9 and subtract
9 x $135.72 from the product.

There is a distance of 987 miles
between 2 cities. How many miles does

a man travel if he makes 9 trips per year?

Subtract $247.63 from $951.27 and multiply
the answer by 9.

Add $376.25 and $14 and multiply the
answer by 9.
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Practice - Multiplying by Nine

Tell as fast as you can which number is

the correct answer. 7
6 o7

1. 9 x 3 //§; 6. 9. x 9 ///4

27 81
4 18

2. 9 x8 z/25 7. 4.x9 /15
\72 \‘\36
72 12

3. 6 x9 /’%6 8. 9x10 .~ éo
54 -~ 01
| 4

4, 9 x 11 /1’8 9. 5. X% 9 /6%
4 %

5. 12 % 9 10 10. 9 x 17 o 8%
\99 ™ .,\;08

Find the answers:

1. 4 x2x9 = 9., 6 X9 - 4 =

2. 9 -1x8 = 10, 5+ 6 x9 =

3. 7+2x9 = 11. 15 - 5 x 9 =

4, 9 x4 -6 = 12, 20 - 18 x 9 =

e T+3x9 = 13. 5+ 4x9 =

6. 6 +5x9 = 14, 6 + 2x 9 =

T. 9x9 -3 = 15. 12 - 8 x 4 = '

8. 9-4x9= |
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LEARNING TO MULTIPLY

Part T

Drill Exercises
Multiplying By:
Two through Nine (inclusive)

Part TIT
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Multiplying By:
Ten through Twelve (inclusive)
and
Miscellaneous Drills




To the Instructors:

This section of the Adult Basic
Education Workbook in Arithmetic is an
extension of the teaching materials for
the Instructor znd driil material for the
adult students.

Drill exercises in multiplying by
ten through 12 inclusive and miscellaneous
drills are conbteined in this section. It
is expected th.t this mutericel will be
supylemented by additional exercises and
drill in order to adequately meet the needs
of the students.
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for authorization to reproduce contents of
this workbook.

Frank R. Repole, Ed.D.
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Multiplying By Ten

10
10 10

10 10 10

10 10 10 10

10 10 10 10 10

10 10 10 10 10 10

10 10 10 10 10 10 10

10 10 10 10 10 10 10 10

10 10 10 10 10 10 10 10 10

10 10 10 10 10 10 10 10 10 10

10 10 10 10 10 10 10 10 10 10 10

1. Count THe colummns 0T 10's from one 10 to
twelve 10's.

N SR SRS

2. Pl.ce your uinswer under e.ch line.

3. Reud the colummns beginning "one 10 is 10,
two 10's are 20, three 10's are 30" and
SO on.

4, How muny ure six 10's? two 10's? twelve
10's? nine 10's? eleven 10's?

Learn the table:

1l x10 = b x 10 = 9x 10 =
2 x 10 = 6 x 10 = 10 x 10 =
3x10 = 7T x 10 = 1l x 10 =
4 x 10 = 8 x10 = 12 x 10 =
0 x 10 = 10 x 0 = 1
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Proctice =« Table of Ten

9 12 0 1. There are 12 x's
K X6 on the rectangle.
%x 2. Beginning with the
13—

10 10 X marked 3 and
moving to the right,
—36- multiply each
2 number by 10.
3. Write each answer
on your paper.

Supoly the missing numbers:

20 = ___ 10's 50 = ___10's 80 =___ 10's

40 = ____ 10's 100 = ___ 10's 70 =___ 10's

60 = __ 10's 110 = ___ 10's 30 = ___ 10's

10 x 4 = 10x 7 = 8 x 10 =

10 x 9 = 10 x 10 = g x 10 =

10 x0 = 10 x 3 = x 10 =

10 x12= 10 x 11 = 9 X10 =

10 x 6 = 10 x 5 = 6 x 10 =

7T x10 11 x 10 = 12 x 10 = |
8 x 10= 2 x 10 =

19.




Proctice = Multiplying By Ten

How much must John poy for:
Ten 7 cent rides?

Ten 11 cent erasers? Add:
Ten 5 cent cards? _ 10 20 11
Ten 8 cent rulers? _____ %8 28 ii
Ten 4 cent stamps? ____ 10 20 11
Ten 12 cent articles? 10 20 11
Ten 4 cent stamps? 10 20 11
Ten 9 cent pictures? 10 20 11
Ten 6 cent p.upers? 10 20 11
Ten 10 cent notebooks? 10 20 11
Ten 8 cent cukes? _EE _39 _}E
Twelve 10 cent flowers?
One 10 cent stomp?
Five 10 cent stickers? ___ 12 9
Eleven 10 cent pins? 12 3
Ten 3 cent murbles? 12 9
four 10 cent pencils? ____ 3o 9
Eight 10 cent puds? ____ 12 9
Seven 10 cent books? 12 9
9ix 10 cent bulls? ____ 12 9
Nine 10 cent pens? 12 9

12 2

80,
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Drill - Multiplying By Ten

2 x 10 = 5 x 10 = 10x6 = T7x10 =
Z x 10 = 10 x 10 = 10x8 = 10x 9=
x10 = 12 x 10 = 10x11l= 8x10 =

16 x () = 120 10 x 2 ) = 110
10 x () = 80 10 x ) = 90
10 x () =40 10x () =170
10 x () = 20 10 x () =50

10x ()= 0

10x () =10

10x () = 40

10x () =30
ten 11's are seven 10's are
9 tens are ten 9's are
eight 10's are gleven 10's are
10 twelves are 6 tens are
10x8 = ___ x 10 10x0 = ___x10
10 x 10 = ____x 10 10x4 = ___x 10
10x6 =___ x 10 10x 5 =___ x10
10x3 =__x10 10x1 =___x 10
10x7 = ___x 10 10x8 = ___x10
10 x11 = ____ x 10 10 x 12 = ___ x 10

81.




Practice - Multiplying By Ten

AV

X 10 =

-P‘ISUU O IO OO0

Hinei

Obey the signs and write the answers:

hs

10 x 10 - 10 = 11 x 10 - 10 =
10 x 9+ 9= 6 x 10 - 4 =
10 x 2 + 10 = 8 x10 - 8 =
10 x + 6 = 2xX 2x10 =

Multiply the number at the top by the
number on the bottom of the line:

82,
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Multiplicution Drill

Find the aroduct of:

1. 5 x 10 6. 2 x 10
2. 10 x 8 g 3 x 10
3. 6 x10 . 10 x 3
4, 10 x 9 9., 1l0x 4
5. 4 x 10 10. 7 x 10

What easy way do you see of multiplying 10
by an¥ number? of multiplying any nunber
by 10

State the missing numbers:

l. 20 =__ ___ dimes 6. 50 =_____ 10's
2. H0g = ______ dimes g. ZO = _______10's
3. 90¢g = ____ __ dimes . 0=____ 10's
4, go¢ = _____ dimes 9. 40 =_____ 10's
5 O¢g = 10. 90 = 10's

How muiiyy dimes cun you get for $1.007
for $2.00? for $3.007

1. Multiply 5 by 10.
2. Multioly 5 by 100.
3 Multlply g by 200.
4, Multiply 12 x 40.
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Multiplicution Drill

4 Ji - 10 9 5
x 10 X 10 x 10 X 10 x 10
0 3 11 8 2
X 10 £ 10 x 10 X 10 X 10
14 21 19 18 31
% 10 X 10 x 10 x 10 x 10
16 41 17 51 15
X 10 x 10 X 10 x 10 X 10
20 30 40 50 60
X 10 X 10 x 10 X 10 x 10
12 6 13 61 T0
X 10 X 10 X 10 X 10 £ 10

84.




Multiplying By Powers of 10

To multiply a whole iumber by 10, annex a
zero; to multiply by 100, cnnex two
zeros; to multiply by 1000 annex three
ZEeros.,

27 58 69 92 87

X 10 X 10 x.10 X 10 X 10
325 642 815 927 898

X 10 X 10 X 10 x 10 x 10
17 18 35 125 1252

x 100 x 100 x 100 x 100 x 100
17 18 35 125 1252

X 100 x 100 x 100 x 100 x 100
18 215 2152

X 1000 x JO00 x 1000 x 1000 X 1000
$.62 $5.32 $.59 $2.77 $32.50
x10 _x10 x 10 _x10 _ x 10
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Multiplic.tion by Aunexing & Zero
1. You huve learned the short way of
multiplying by the powers of 10 =

2 x10 = 20 2 x 100 = 200
2 x 1000 = 2000

o. Here is & short way of multiplying
numbers by annexing a zero.

If you hive an example like 30 X 5y
you cair think "% x 5 = ;5" and then annex
% zero to the 15. The unswer is 150.

Or, you can think "5 x 3 = 15" and
annex 2 zero to the 15 and the onswer 18
150 as before. It makes 1O difference
which way you multiply. The answer 1is the
same. Here are other examples of the same
way of multiplying.

7 x 20 would be thinking 7x 2 - 14 and
annexing & zero thus giving the answer
140. Try these examples without using
o pencil:

30 x 3 60 x 3 300 x 2
40 x 2 gO X Z 400 x é
50 x 4 0 X 500 x
2 x 30 2 x 60 6 x 20
4 x 20 5 X éo 40 X 5
3 x 30 2 x 80 80 x 3
2 X 40 3 x 90 x 40
30 x 2 7 x 30 x 90

86.




Multiplication Drill

Can you do the same for these examples:

2 x 300 2 x 600 6 x 100
4 x 200 5 x 300 400 X 5

x 300 2 x 800 800 x 3
2 x 300 3 x 900 9 x 100
300 x 2 7 x 300 500 x 9

Can you obey the signs and give the answers:

t0 these examples?

2 4+ 2x 30 5 - 3 x 40
+1x 20 6 -5 x 90
10x4- 5 10x7 -5

Copy and find the answers.

$.10 x 3 + .03 = 7
%olo X 5 - 005 ?
$1.00 x 10 - $l.08

i
~

$1.50 x 10 - $5.0 ?
10 X 4 - 20 = ? 10x () =90
8x10 - 5H =27 10 x ( ) = 70
10 x 4 - 10 = 7 10 x ( = 00
x 10 = 15 = 7 10 x ( ) = 100
42 x10+ 4 =7 ( x 10 = 40
9x10+9 =7 ( ) x10 = 60
ijox6+2 =217 i x 10 = 70
11 x 10 - 10 = 7 ) x 10 = 120
10 x 9 = 10 x T =
10 x 10 = 10 x g = 10 x 11
10 X 6 = 10 x 8 =

10 x 12

nn




Multiplic.ition Drill

$.11 $.32 $.16 $.45

X 10 x 10 x 10 x 10

- $.82 $.95 $2.20 $1 .60

x 10 x 10 x 10 x 10

$1.45 $3.25 $7.38 $9.62

x 10 x_ 10 x 10 x 10
$110.10 $ 30.20 $125.25 $261.10

x 10 x 10 __x.10 x 10
Problems

1. Elsie has filled her stamp book. There
are 10 pages with 25 st.mps on each page.
How meny stamps are there in the book?

o, If a truin trovels at the rate of 30 miles
an hour, how far does it go in 9 hours?

3. There are 30 days 1in the month of November,
How muny hours are there in the month?

4. There ure 60 minutes in & hour. How many
minutes are there in 8 hours?
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Multiplication Drill

Problems: (Cont'd.)

5.

O -3 O

10.
11.

12.

13.
14,

16.
17.

18,

19.

A box holds 144 pieces of chalk, how
meny pieces .re there in 10 boxes?

How meny cents _re there in $5.007
Multiply 6 by 50 and add 25.

Find the cost of 75 spellers at 40¢
each.

If Mr. Brown truovels 26 miles to and
from his work each day, how many miles
does he travel in 10 duys?

AdG § and 5 snd multiply the sum by 80.
A boy bought nine 10-cent articles in
a store. What did he pay for them?

John bought some goldfish at 10g each,
Whot did he pay for seven goldfish?

100 x 8 + 50 = ?

If a notebook is worth a dime, how much
must you pay for 12 notebooks?

If o large cake of ice weighs 100 pounds,
what will be the weight of 25 cakes of
ice of the same size?

There are 2000 »Hounds in a ton. How
many pounds are there in 6 tons?

There are 366 days in a leap year.
How many days are there in 10 leap
years?

A deuler buys tables at $25.95 each.
What must he nay for 10 tables?

If an airplane flies 100 miles an hour,
how far does it fly in 11 hours?




Multiplication Drill

Problems: (Cont‘d.)

20.
21,

22.

23.
24.
25.

26,
27.
28.
29,

30.
31.

32.

How mony eggs are there in 10 dozen?

If there are 15 pencils in a bOX,
how many pencils are there in 10 boxes.

%ulgiply two dollars and fifty cents
y 9.

How many bushels of wheat will 23 acres
of 1land yield at 90 bushels an acre?

How many oranges are there in 3 boxes
if there are five dozen oranges 1l.. 4
box?

Mary saves 50¢ euch month. How much
money has she saved at the end of &
yeur?

a pound of candy costs $.90. Find the
cost of 6 pounds.

A string of beads is worth $1.50. Find
the cost of 5 strings of beads.

If one automobile costs $1725, what will
10 automobiles cost?

There are 500 sheets of paper in a
package. How many sheets of Dpaper are
there in 7 packages?

Find the cost of 10 hats at $9.50 each.

Mory painted fifteen holiday cards each
day %gr 10 duys. How many cards did she
pain

Mr. Stern spends 60¢ each working day
for his lunch. How much does his lunch
cost him for a five day week?

9.

f
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Multiplication Drill
Problems: (Cont'd.)

33. Ellen bought 19 greeting cards at $.10
eachi? How much did she pay for her
cardads

34. In an orchurd there are 25 trees in a
row, If there are 10 tows of trees
and 10 orchcrds, how miny trees are
there in all?

35. If Fred leurns ten new words each day
for 2 weeks, how meny new words will
he know?

36. A class works ten examples in arithmetic
each evening. If the class meets 6 times
how many examples will the students work?

37. If & boy reads 35 pages of a book each
dayd§or 20 days, how many pages will he
rea

38. If a washing-machine costs $150.25, what
will 10 machines cost?

39. If an office receives an average of 10
telephone calls each day, how many calls
will it receive in 15 days?

40. There are 10 cards containing information
about voting in & bundle. How many cards
are there in 52 bundles? f

41. If 225 pages are needed to make a book
how many pages will be needed for 30 books?
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Multiplication orill

Problems: (Cont'd.)

42,

43.

44,

46,

4'70

48.

49.

The distunce between 2 cities is 786
miles. How many miles does & man
tr.vel if he makes 10 trips between
the 2 cities?

A painter charged $15.85 to paint sizns
for advertising. At this rate how much
money should he zet for painting 10 signs?

Mrs. Johnson sold home made rugs. ©She
sold 10 rugs at $19.95 each. What did
she receive for the rugs?

Mr. Brown's laundry bill averages $2.78
per week. How much is thut for 10 weeks?

The tr.in fare from Baltimore to a large
northern city is #$17.95. If 60 peoole
are traveling this route, what will be
the amount of the total fare?

Find the cost of 10 towels at $.39 each,
10 scarfs at $1.29 each und 10 cloths =%
$.37 each,

Find the cost of 10 greeting cards at
$.27 each, 10 pencils at $.07 euch and

2 fountain pens at $1.47 each,

A store-keeper bought 10 crages of
oranges, each containing 5 dozen oranges.
If he sells the oranges at $.05 a piece
how much money ~#ill he have?
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Multiplying By Eleven

Add the columns of 11's from one 11 to

twelve 11'sS.

11
11 11

11 11 11
11 11 11 11

11 11 11 11 11
11 11 11 11 11 11

11

11l
11

11
11

11

11
11

11
11

11

11

11

11
11
11

11
11

1l
11

11

11 11
11 11

11 11
11 11

11 11
11 11

11 11
11 11

11 11

1111111111

11
11
11
11
11
11

11
11

11
11

11

11

1. Count the columme of 11's from one 11 to
twelve 1ll1's.

2., Place your answer under each line.

3. Reud the columns beginuing "one 1l is 11,
two 11's are 22, three 11's are 33", and
SO on,

4, How many are six 11's? two 11's? eight
11's? nine 11's? ten 11's?

Learn the table:

1 x1l = hx 1l = 9 x 11 =

2 x 11 = 6 x 11 = 10 x 11 =

3 x 11 = g X 11 = 11 x 11 =

4 x 11 = X 11 = 12 x 11 =

0 x 11 = 11 x0 =

T T




practice - Table of Eleven

1. There are twelve numbers
3 on the circle
2 Beginnin§ with 9 andlt A
moving clockwise, multiply
5 x11 ,;0 each number by 1l.
8 4 3, Write each answer
' on your paper.

Supply the missing numbers:

22 = ____ 11's 44 = 11's g = ___ 11!
33 = ____ 11's = 11's 110 = ____ 11°
66 = 11's 77 = 11's 121 = ___ 11
State the answer:

11 x 4 11 x 1 11 x 11 0 x 11

11 x 2 11 x 8 5 x 11 8 x 11

11 x 9 11 x 5 3 x11 4 x 11

11 x 6 011 x 12 7 x 11 6 x 11

11 x 3 11 x 0 9 x 11 2 x 11

11 x 17T 11 x 11 12 x il 10 x 11

How much must John pay for:
eleven 3 - cent stumps?
eleven 5 - cent erisers?
eleven 10- cent notebooks?
eleven 12- cent articles? _
eleven 2 = cent postals? ____

eleven 6 - cent pictures?

IR S Sus T
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Practice - Multiplying By Pleven
eleven 8 - cent pads?
eleven 1 - cent st.mps?
eleven T - cent papers?
eleven 9 - cent cards?
one ll-cent pin?
four ll-cent pens?
nine ll-cent cakes?
six 1ll-cent pictures?
twelve 1l-cent marbles?
five ll=cent books?
seven ll-cent pencils?
ten ll-cent c.rds?
eight 1l-cent balls?
three ll-cent stickers?

11 12 g 3 10 T
11 12 9 8 10

11 12 9 8 10

11 12 9 8 10 T
11 12 9 8 10 T
11 12 9 8 10 T
11 12 9 8 10 T
11 12 9 8 10 I
11 12 9 8 10 T
11 12 9 8 10 T
11 2 9 8 w0 I
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Drlll - MJltlplzlng By Eleven

3x 1l 5 x 11 11 x 12 4 x 11
T x 11 7 x 11 11 x 10 x 11
10 -x 11 9 x 11 11 x 0 0 x 11
11 x () = 33 11 x () = 132
11 x () = 44 11 x ( = gg
11 x ( ) = 55 11 x () =
11 x () = 66 11 x ( = 11
11 x ( ; = 22 11 x () = 77
11 x ( = 120 11 x () - 121
seven 11's are eleven 1ll's are
elevens are 6 elevens are
niue 1ll's are eight 11l's are
12 elevens are 5 elevens are
11 x8=__ x11 11 x4 =___ x 11
ll1x5=__ x11 11 x6=___ x11
11 xT7=__x11 llx2=__x11
11 x 10= ___x 11 11x0=___x11
11 x9=_  x1l 11 x 11= ____ x 11
11 x 12= ___ x 11 11 x3=__1x11
10 1. Multiply e.ach
3 number by 11.
5 2., Write the
T answer on your
9 X 1ll = paper,
11 _
4
6
8




lgractice

= Multiplying By Eleven

Obey the signs and write the answers:

11 x 2 -2 =
11 x3 + 2=
11 x 10 - 10
11 x6 =

the number

Multiply the number at the ton by
on the bottom of the line:

. /U\

_u_/ \_19_.

e

E

11, 1
\\
./;>><i\
p \] J
Drill:
9 /]
x1 xal
12 4
X111 x1l
10 20

e




Multiplication Drill

70 80 .00 300 500 200
X1l x1i XL X 1 x 11 X 11
0 3.0 1.20 3000 4000 K000
X_;LA X ST .-.'-.::..‘..;}:.”}::. .).g.._.]m:::. -‘K. ;3 _X___-_l-_];
10 11 12 13 14 15

x 1l x 11 X il X il x_ 1l x_11
21 31 41 71 61 T1

x 11 x 11 x 11 5oLl x 11 x 11
22 80 90 3 44 55

x 11 x 11 x 11 vk x_ 11 x 11
81 18 32 23 1.9 92
x 1l x 11 x 11 x Ll X 11 x 11
43 25 62 73 84 95
x 11 x 11 x 11 x 11 x 11 x 11
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$1.00 $1.02 8.44  $5.00 $10.00  $.11
x 11 . x 1l ¥ 11 _x11 x 1l
$2.02 #£1.01  $5.20 $6.00  Hl.le $1.22
x 11 _E L X 11 xSz _x 11
$3.04 $6.20  §8.01 $.90 $1.09 $3.24
x 11 x 11 x 11 x 11 x 11 x 11
$2.20 $6.06 $9.02  #5.30  $10.00 $12,00
x 11 x 11 x 1i ox_11 ¥ 11 _x 11
$11.05 $.O7 $9.1.C $20.00
x 11 x 1L x 11 _x 11l
$5.25 $6.37
x 1l x 11
99.




10.
11,
12,

Multiplic.tion Drill
Problems

If o y.rd of cloth cost 20¢g, what will
11 y.rds cost?

Fin? the cost of 11 foothalls »t $3.10
each.,

How sy egdss are there in 1. dozen?

A spelling book costs %.60. How much
are 11 spellers wocth?

In in orch..d there are 16 trees in a
row. dow muany trees are there in
eleven rows?

Some Boy Scout suitz were bought at
$11.00 each. How much was paid for

12 suits?

Mr. Smith bought soie pencils for 80¢g
o dozen., What dxd i say for 11 dozen
pencils?

Find the cost of J: ults of clothes at
$50.50 each.

Find the cost of L1 toy drums at 60g
each,

How much must be poida for 11 rugs at
$12.20 each?

Nhat must be paid Ior 11 necktlies at
$1.25 each?

A ball team bought 11 sweuaters abt $5.10
each, How much 4id the sweaters cost?

100.




Multiplication Drill

Problemg: Cont'a.

13.

14,

1 [ ]
12

170
18.

19.

20.
21.

22,

23.
24 .

armpri s

Mery buys 11 yards of cloth «t 55 cents
per vard. Whut does Mury pay for the
cloth?

SupJose & book seller selis 1l Dbooks at
$1.45 each. How much money «re the
books worth?

Multiply $20.10 by 11.

Arthur wants to buy eleven l5-cent balls
How much money does he need?

Find the cost of 8 yards of dress goods
at $1.10 a yard.

A family used 11 quarts of milk exch
week for 45 weeks. How meny quarts of
milk did the family use?

A group of 11 boys have 25 stumps in
each of their st.im.) books. How many
stamps are owned hy the group?

If a boy earns $3.20 a day w«nd works

11 duys, how much mcney does he receive?
Mr. Jones set out 11 rows of tomato
plants, 24 plants in a row. He set out
how muny plants?

Mrs, White prepared 1l lunches costing
$.78 each. How much did the lunches
cost in all?

At $11.25 a pair, find the cost of 11
pairs of shoes,

Mr. king drove his car at an average

of 45 miles a day. How far did he drive
in 11 days?

101.




Multiplication Drill

Problems: (Cont'd.)

254

26,
28
29.
30,
31,
32.
33.
34.
35.
36.

37,

8.

9.
40.

41,

How many days are there in 11 school
weeks?
How many months are there in 11 years?
Multiply 11 by 11 and subtract 11,
At $6.25 each, find the cost of
11 baseball suits.
Find the cost of 56 greeting cards at
11¢ each,
John has 115 marbles ezch worth llg,
Wnat is the value of John's marbles?
There are 36 inches in a yard. How
meny inches are there in 11 yards?
Pind the cost of 8 pairs of stockings
at $1.10 each,
Henry bought o knife for 65¢. What
would 11 knives like Henry's be worth?
Nhst is the difference between 1l X
25 and 15 x 117
gind gge sum of 11 x 33, 11 x 45 and

x [ ]
A bale of cotton weighed 495 1bs.
Find the weight of 11 bales.
At 315 miles a duy how far can a ship
truvel in 11 days?
Multiply $1.75 by 1l.
At $1.11 euch £ind the cost of 11 Dooks.
Find the cost of 11 cars at $8.00 each.
Find the cost of eleven 20-cent articles
and fifty ll-cent articles.

102,




Multiplying By Twelve
— ,. e e

12
12 12

12 12 12
12 12 12 12
! 12 12 12 12 12

12 12 12 12 12 12
12 12 12 12 12 12 12

§ 12 12 12 12 12 12 12 12
12 12 12 12 12 12 12 12 12

| 12 12 12 12 12 12 12 12 12 12
| 12 15 12 12 12 12 12 12 12 12 12
12 15 15 12 12 12 12 12 12 12 12 12

o - 17 8 AL miguigjigatmsed

1. Count the colums of 12's from one 12
to twelve 12's.

2. Place your «nswer under each line.

3. Read the columns begil..lny "one 12 is
12, two 12's are 24, three 12's are 36,"
and so on,

4, How many are five 12's? ten 12's8? six
12's? eight 12's? twelve 12's?

Learn the table:

1 x 12 = h x 12 = 9 x 12 =

2 x 12 = 6 x 12 = 10 x 12 =

3x 12 = 7T x 12 = 11 x 12 = |

4 x 12 = 8 x 12 = 12 x 12 =
- OXl2= 1%_3(0'—'

103.




Practice = Table of Twelve

S

_5._ . l; There «re twelve nv "bers
2 on the ladder.

Ll ___ 2. Beginaing at_the top,
p} multiply each number
9 m— by 12.

____ 3. frite e.ch answer on
4 X 12 = . your paper.

12 _

Lo | L

1 6
H

10§

T

Supply the missing rnumbers.

48 = 12's 84 = 12's
24 = 12's 96 = 12's
26 = 12's 108 = 12's
0=___ 12's 120 = ____ 12's
72 = ____ 12's 132 = ____ 12's

144 = ____ 12's
12 x T 12 x 12 5 x 12 11 x 1z
12 x 3 12 x 0 8 x 12 7 x 12
12 x 6 12 x 11 6 x 12 3 x 12
12 x 9 12 x § 12 x 12 10 x 12
12 x 2 12 x 8 0 x 12 2 x 12
12 x 4 12 x 10 1 x 12 4 x 12

L | 104




Practice - Multiplying By Twelve

How much should be paid for:

twelve
twelve
twelve
twelve
twelve
twelve
twelve
twelve
twelve

6-cent pads?
4-cent cundiee?

H-cent stumps?
11-cent erasers?
-cent balls?
-cent pencils?
2-cent postals?

10-cent cards?
12-cent notebooks?

twelve 9-ceut stickers?
three 12-cent books?
eight 12-cent rulers?
twelve 12-cent calendars?
four 12-cent boxes?
five 12-cent hangers?
nine l1l2-cent stamps?
teil 12-cent papers?
six 12-cent cookies?
eleven 12-cent articles?
seven 12=-cent pencils?

4 x 12 6 x 12 0 x 12
7 x 12 9 x 12 3 x 12
11 x 12 12 x 12 5 x 12
8 x 12 10 x 12 2 x 12

105.




Multiplic.tion Drill

» 12x () =24 12x () =36
12 x () = 48 12 x () =172
12x () =96 12 x () = 108
12 x () = 120 12 x () = 132
12 x () =12 12 ¥ () = 144
12x () =09 12 x () =284
twelve 12°'s are 6 twelves are
9 twelves are ten 12's are
eleven 12's are | 8 twelves are
7 twelves are five 12's are
12 x ____=___%x12 12 x __=___x12
12 x ____=__%x12 12x __=___%x12
12x __ = ___Xx12 12x __=__x12
12 x ___=___%x12 12 x __=__x12
g 12 8 6 11 fi 9
@ 12 8 6 11 T 9
| 12 3 6 11 7 9
12 8 6 11 T 9
12 8 6 11 T 9
12 8 6 11 T 9
12 8 6 11 T 9
1.2 8 6 11 z 9
| 12 3 6 11 9
g 12 8 6 11 i 9
| 12 3 6 11 J 9
12 _8 6 11 9_
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Practice - Multiplving By Twelve

1.

2'

Multiply each
number by 12.
Write the answer
on your paper.

Obey the signs and write the answers:

12

T

9

6 x 12
10

8

5

4
11

3
12x 3 -1
12 x 4 + 2
12 x 10 -10
12 x 5+ 5

o

12
12
12
12

Mo X

H —3 0N

1

+ 1
N AN

Multiply the number ublL the top by
number on the bottom of the line:

the

12

12

107,
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| Multiplic.tion Drill
3 Ji 1l 1 5 9
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Multiplicution Drill

| 19 18 81 32 23 92
| X 12 x 12 x 12 x 12 x 12 x 12
24 31 42 73 85 92
x 12 x 12 x 12 x 12 x 12 x 12
$.50 $.24 $1.00 $2.00
X 12 x 12 x 12 x 12
$5.00 $10.00 $2.01 $4.02
x 12 x 12 x 12 x_ 12
%5.03 $6.00 $1.10 $2.05 $5.30
x 12 x 12 x 12 x 12 x 12
$3.20 $8.01 $1.09 $2.22 $3.04
x 12 x_12 _x 12 _x 12 x 12
$8.01 $9.20 $40.00 $12.00 $15.00
x 12 X 12 X 12 x_12 X 12

109.
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Multiplicetion Drill

wh

o -3 o o b

O O

$11.01 $.06 3.09 $20 .00
X 12 x 12 x 12 x 12
$6.32 $7 .45
X %2 x 12
Problenms

There «re 12 inches in a foot. How many
inches «re there in 10 feet?

How many egZss are there in 9 dozen?

There are 4 quarts in & gallon. How many
guarts are there 1in 12 zellons?

Find the cost of 12 books if each book
costs $1.70.

John spends $.60 for lunch each week day.
How much does he spend for Tunch in 12 days?
There are 16 ounces in a pound. How many
ounces are there in 12 pounds?

Mr. Jones works 8 hours & day. How many
nours does he work in 12 duys?

F.nd the cost of 12 yards of ribbon at
#1.10 per yard.

William earned $3.20 a day. How much did
he earn in 12 days?

At 12¢ each, find the cost of 30 booklets,
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Multislication Drill

Problems: (Cont'd)

11.

12,
13.

14,
15.

16.
17.

18.
19.

20.

21.

Mury works in i store on Saturday.

She receives $4.50 each Saturday for

4 weeks, How much money does she save?
Henry saves $6.25 esch week. How muci
does he save in 10 wecks?

John's brother works 7 hours a duy 1in
2 bank. How many hours does he work
in 8 wecks?

A workbook cost 65¢. Find the cost

of 12 workbooks,

A men drives on an average of 35 miles
each day. How muny miles did he drive
in 12 days?

Twelve persons went for < picnic. The
cost of the lunch w#.s $1.60 per person.
et wes the cost »~f the lunch?

In un orch.rd tinere are 14 rows of trees
with 12 trees in e.ch row, How many
trees ure there in the orchard?

12 x20 + 5 =7

Two boys picked 12 crates of berries.
There were 36 quairts in each crate.

How many qu.rts of berries were picked.
Every Saturdw«y for 12 weeks, John
earned $4.52. How much money did he
earn?

Find the cost of 12 automobiles at
$9.25 each.,

111.




tiplication Drill

Problems (Cont'd.)

22

23.
24,
25.
26.

27.
28.

29.
30.

3l.
32.

33.
34.

There are 144 pieces of chalk in a
box. How many jieces are there in

12 boxes?

ihat must be paid for 25 rulers ab

12¢ each?

What will be thg cost of 12 packages
of paper at $.58 a package? ]

Fin% the cost of 12 globes at $3.65
each,

Mzry spends 34¢ a day for car fare.

If she rides to work 12 days, how
much money does she spend for car fare.
Find the cost of 6 railroad tickets

at $12.90 per ticket.

At an average speed of 40 miles an
hour, how far can a man drive his car
in 12 hours?

What will 5 pairs of shoes cost at
$12.20 a pair? |

Mr. James sold 12 books atb $2.25 each.
How much money d4id he receive?

How meny months are there 1n 15 years?
Find the cost of 12 baseball suits

ot $3.20 each.

Mnd the cost of 12 boXes of candy

2t $1.62 a box.

There are 25 rows of churis il & hall.
If there are 12 chuirs in each row,
how many chelrs does the hall contuin?

112,




tiplication Dril

Problems: (Cont'd.)

35.
36.

37.
38.

39.

40.
41.
42,

43.
4%,

45,
46,

Find the totul cost of 12 pens at 75¢
each and 12 pencils at 35¢ each.

There are 500 sheets of paper in a
package. How many sheets of paper

are there in 12 packages?

["ind the cost of 12 washiu.g machines
at $150.25 each.

A farmer sells 12 dozen egss each week.
How many dozen does he sell in 6 weeks.
Mrs. Biack purchased an umbrella Ior
$3.25. If she had purchased 12
umbrellas, how much money would sne
have spent? |

A dictionzry is worth $2.50. Find the
cost of 12 dictionaries.

ihat is the cost of 12 hats at $7.50
each?

Find the cost of 12 puirs of sclssors
at $1.80 a_pair.

Add 12 x 48 and 56 x 12.

Nhat will 12 gallons of paint cost

at $2.25 per gallon?

There are 4 pecks in & bushel. How
many pecks ure there in 12 bushels?
Fing the cost of 12 books at $1.40
each.
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Multiplication Drill
Problems: (Cont'd.)

47. How many words are there in 12 columns
of words?

48, How much must be paid for 12 yards of
goods at $3.55 per yard?

49. A scooter cost $5.35. Find the value
of 12 scooters,

50. Mr. Brown bought some swexsters to resell.
How much did he pay for 12 sweaters at
.$4.35 each?

51, at Zg¢ each, whet will 12 handkerchiefs
cos

Two-Figure Multiplication

A speller has 42 words on each page, If
there are 32 pases, how meny words are there
in the speller.

To get the answer, 42 must be multiplied by
32, for exumple 32 X 42 = ?

Put the example on paper in the following
WY e eoaoa 42
X 32 Then, work the example

84 thus: 2 x 42 = 84
126 Write the 84 so thut
1344 the four is under the
2 in 32, Multiply

42 x 3 = 126, Place the 126 under the 84
so that the 6 is under the 8. add the two
numbers. Your wnswer is 1344. The speller
contains 1,344 words.
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Two Figure Multipl

jcation

Copy aad finish these examples:

1. 59 2, 78
42
118 3‘%4 g
6 0
3. 24 4. 82
320E ; 4938
6 9
5. 2%2:21 6. 82
44 4
¥ :
7. 48 g, 72
x 13 x 79
144 638
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Two Fizure Multiplication
Copy &nd finish the following examples:

E 1. 74 2, 6

£ 53
222 447




Two Figure Multiplicction

Multiply these numbefs being careful to
watch the carryings.

1. 45 2. 24
X959 X 65

. 2 4,
3 . g 29
. 66 6. 0
? x 72 5 23
7. go 8, $.90
x o7 X 29
. $.60 10. $.80
7 X 37 x 86

117 .




Multinlviog Dollars und Cents

AL the swimming p0ool, & S2is0n ticket
costs w2.75. a4t this rice, what will
be the cost of 67 tickets?

Multiply $275 by 67 just as you would
mltiply 275 by 67, first by 7 and then
by 6. Cents alwuye have two places. Put
the decimal point befores the last two
fizures of the product. add the dollar
sign (&4). The auswer is $184.25.

Example: $2.75
X The ticket will
192% cost $184,25.
1650
184.25

Here is a second example:

A rug is worth $15.75. Find the cost of

25 TUZS. Exumple: %15.25
X

The rugs zre worth T 875

$393.75. 3150

$393.75

118.
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More About Multiplication

If there is an example in which a
gero is used as a figure, be careful to
place your products in the correct place.

Example: -

90 26
x 26 x 90
40 00
100 234
2340 2340

Copy and complete these examples:
Be sure you check your answers.

0 60 '
X %5 X %g X 59 X 28
80 29 50 97
x29 x 80 x 97 x_50

119.
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Terms Used in Multiplication

Terms used in multiplication are shown
below:
24 - multiplicand
- multiplier

X 23
52) - partial products
48 )

Fr2 = product

The multiplicand is the number to be
multiplied. The multiplier is the

number by which to multiply. The preoduct
is the answer. The sign (x) is the times
sign.

Multiply these examples - writing the terms
beside each number.

92 84 4g
x 91 x 86 X 5
) 6 8
13 55 S 55
97 115 225
x 96 x 2 x 34
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Terms Used in Multiplicaotion = Cont'd,

301 508 420 |
x 45 x 38 x 49

Checking Multiplication

Here is & good way to checx your worK 1in
multiplicution. The muitiplicand is T9,
the multiplier 23 - find the product.

- Example: 75 - multiplicand
x 23 - multiplier
225
150
1725

To check, multiply just the opposite way:
Example: 23
X 75
115

161
1725

If the products are the same the answer
is correct. If the products are not
the same there 1s a mistake.
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Practice - Multiplyins Money
Pr.ctice until you can do these multiplications

easily. Check your auaswers. |

$2.50 $7.12 $5.41 $3.16
X_32 _x 13 x 21 X 42
$9.2 $10.52 31, $3.1

3 13 X gjw wx gg 2 92
$8 .67 $2.94 $9.645 $8.79
x 27 _x 76 _X 95 _z_g3.
$9.05 $6 .08 %5326 $9.80
X 97 - .x 19 X o7 X 23
$o.g9 $7.50 $10.20 $20.10
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Multiplying Larger Numbers
Three - Figure Multiplicztion

Mr. darren sold 123 cars at $531 each. How
much did he receive for them?

$531 First multiply by 3. Remember
123 that you always write the first
1593 figure of esch product under the
1062 numher by which you multiply.
.231. Nexb multiply by 2. Write the 2
5313 of 2 ¥ 1 under the 2 by which you

multiply. Next multiply by 1.
Write the 1 of 1 x 1 uuder the 1 by which you
multiply. Check by finding 531 x 1l23.
Mr. darren received $65,313. -

Multiply and check your work:

1 47 68 842
x_zag x_gﬁg x_gﬁa x_296
623 861 781 632
x 231 X.234 x_387 x 748

123
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| Using Zeros in Multiplication
Study the following example carefully:

324 Remember thot the first figure
x 103 of euch product is written under
972 the number used «s the multiplier.
3240 _ When & zero is the multiplier,
33,372 write it in its place :nd use
the nest number as the multiplier,
Checx the answer by multiplying
by the opposite number,

Multiply and check the answe:rg:

35 $2.,12 $7.25 395
x 120 x_240 x 120

R M e MG

:
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Using Zexros in Multiplication
Dollars and Cents

Mr. #hite sald he sold 240 pairs of shoes
at $6.15 a pair. Find how much he gob

for them.
$6.15 . Multiplvinz BA.15 by 240 gives
240 the same fivures as multiply-
24600 jng 615 by 240, Tu the pro-
1230 duct mark off Lwo places with
$1,47600 & period, to designale cents
and write the $ before the
answer., |

Multiply and check answers:

@4.Z8 $7.29 $9.4 $6:81
X 360 x 110 X 290 X 430
$8.37 $2.36 $2.43 $3.72
X 720 X 180 X 910 X 290
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ork In Multiplication

Multiply in turn by 2, 20, 200:

10,
11.
12.

13.
15.

by 3, 30, 300:

by 40, 400
by 50 500:
the following:
265 5. 608
$2.65 6. $60.80
278 | g. 138
$2.7€ . $73.80

Multiply #$634.75 by 8; by 80; by 800;
vy 860.

Multiply 775.40 by 9, by 90; by %OO by 925.
Multiply by 60: 14 47 ft. 35 50.
Multiply by 500: 1 65 "$20.2
Multiply 160 in turi by 5o¢, 20¢, 1o¢, 25¢.
Multiply 330 by #$445.80.

Perform the following multiplicaticns:

20 x  $246.70

oc x 283 ft

090 X e300
32750 x 645
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Speed and accuracy in Multiplicotion

low quickly can you multiply these numbers?

x 8

30

x 9

24
Xz

OoN
»ON

o

Ix
N

[

[ox

x'8

70
x 7

28
x 9

e Lo Ky

P
NNO

NCD
oNQO

|

P4
D
oNO

ke [w bs be |

[
N ON
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Spead and Accuracy in Maltiplication

Multiply snd ces Dow many corract rasults you
can Zet.

!
f
)
b
lo
-
]
4
lm
S

| &=
ol
Lm
y CO
e
:._1
i
SE!
(OO0
i €
RS
zx\]

£
L&
Fﬁ#
(08¢ FY

£
Lo

=
o
| &
t 3
i v
%_UO\
OO
| &
PR
)
bt
OO
lo00

%.‘,'5,.
>~
L?-P

~3

£
ROV

-3

QO

£5

D
O

o~
O O
‘ £

'...I

(S
3
o QO

129,




Review vrill in Multipylication

-

Copy and MWaiioinis:

T N
142 9 475
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Drill - Multiplication

Multiply the numhar in the cerhos of the
star bv aach number inside ood o sirhglde
the cirala.  How many peryeri shuals

can you #&eu?




General Review

First find the sum, then the difference,
and finally the product of epci. uf ihe
followinaz:

7’

8 O 20 Q
——2' . - \.w--uy!:-;.‘ .'2 v, ,'_.'u!' ) '~." N o v—,

785 (20 400 820
—3L A € R 1
heT 520 244 4R2
_.95 s 22 84

$9.80 $307.0 53.78 $261.50
i Ol Rl R

Review Problems

1. There are 144 square inches in 1 square
. foot. How many square inches are there
in 109 square feet?

2. The route of & rural mail carrier is 36
miles long, and he makes this trip 307
times & year. How muny miles does he
tr.vel in a year?
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10,
11.

12.

13,

Review Problems = (Cout'd.)

Ty

A dealer sells 50 sets of furniture at
$275 each, How much does L receive?
At $435 an acre, how much musi s farmer
pay for 150 acres of land? | |
A facbory sold 31 motoraycies of $334
guch. Whait was the sale Hrice of the
entire lot?

A famiiy uses 3 pcunds of #itz-T esach
week. How many pounds wiil Le ugsed at
the end of o yeur? . |

How much will 25 books cost at $1.70
each? -
How much wvill & dozen tubles welgh at
25 1lbs. euch?

Find the cost of 2 radios valucd at
$235 each .nd 2 stunds worth $°0 each,
If a bushel of wheal weizhs 60 pounds,
st will be the weizght of 1125 bushels.
A Certain fuctory employs 516 persons.
Their average wuzges are $65 a week.

How much does the factory pay in wages
each week?

Mr. Roberts saves $60 & month. He has
been doing this for 10 yeurs. How much
money hss he saved?

A school has ordered 30 dozen jads of
paper. BEuch pad has o0 sheets., How
many sheets of paper «re there in all?
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14,

16.

170
18.

19.

20.
21.

22.

23.
24 .

2h.
22

Review Problems (Cont'd.)

Find the cost of 115 handksrchiefs at
$.34 each.

The multiplicand is 205, the multiplier
is 26, ihat is the produci?

There ore 60 seconds in 2 minute. Mary
has waited 25 minutes for her sister.
How manv seconds has she waited?

There «re 20 crackers in a box. How
many crackers are there in 36 boxes?
How many ezgs are there 1in a crate
which holds 30 dozen?

Driving an automobile at the average
rate of 30 miles per hour, how far

will 2 mau drive in 12 hours?

A pushel of oats weighs 32 pounds. How
many pounds do 20 bushels weigh? :
In a book of 15 chupters, how many Dages
are there if e.ch chapter averazes 27
pages?

If you can resd 24 pages of & book 1n
an hour, how muny pages can you read

in 20 minutes?

ihat is the cost of 6 baskets of apples
at $4.50 per basket?

At $.35 each what wiil be the cost of
15 towels?

How much is 70 times $320.107

If & yard of ribbon costs 25¢, whit will
be the cost of 16 yards?




Review Problems C ﬂu'd )

27, Fina ho ﬁ@rt nf b vacdn of 2o0ds
aty #2045 var ard, }

28, How m;ny Guntas wre bners Lo 30 pounds?

29. Countin: 14 h.wuc o vooan inch, how
meny Sk “tehee will boaes Lo in & hem
28 inchen long?

30. #hat will 32 chairg cont §F ey chalr

is worth $24.507

31. Multiply 40¢ by 23 SO

32, How many months i & corson dived who
is 35 yexrs 0147 |

33. Sixty minutes make o Mo, s Many
minutes are there 1 z! Donres

34. Twelve inches make @ foot, SR W2y
inches 1long i the rug Lorars & fire-~
place 1T i1 mcasuiso 4 Taont

350 MI' HOlI’I’le it I‘j Ve -\\2 R 'i ef 2

"")l

,.

PO S8

to and from @ork ecch dry. wa MENY

miles does he drive 1 a wWee k37 he

remzing ot home o Hunday CornLy?

45 x 36 + 18

95 x 23

17 + 32 X 16
- 31 x 24 =

73 x 26 + 49 X

s
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